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mm Grammar and Vocabulary
76- He has not seen his old friends ................ he arrived here last week.
1) since 2) when 3) so that 4) so as to
77- Cleveland has always been referred to as a dirty, boring city, ................ now they say it is much better.
1) as 2) because 3) though 4) whether
78- Mark: Why didn't he ring the bell before coming?
Sarah: He always rings the bell. You ............... out when he came.
1) must be 2) should be 3) should have been 4) must have been
79- | am sorry to say that the plane will arrive at its ............... one hour later than usual.
1) space 2) journey 3) destination 4) situation
80- You really ................ me when you mentioned my mistakes in the presence of my classmates.
1) compared 2) introduced 3) generalized 4) embarrassed
81-The .....cceeuuuenns of advertising is to create a unique image for your company.
1) prediction 2) function 3) reference 4) involvement
82- Don't talk. You may ................ the driver's attention from the road.
1) distract 2) damage 3) stretch 4) recognize
83- No one believed what he said; his excuse was not ................ .
1) efficient 2) reasonable 3) artificial 4) complex
84- A: Do you have any news about Ted for me?
B: No. | haven't seen him ............... .
1) lately 2) briefly 3) commonly 4) suitably
85-ltryto............... two hours every night to my school work.
1) estimate 2) devote 3) spend 4) enhance
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mm Cloze Test

"l stood up to speak and my ...(86)... went blank". Has this ever happened to you? You may be
nervous in front of an audience. You may be worried that you didn't prepare enough. You ...(87)...
some of your facts. What can you do? Sometimes people prepare too much and become ...(88)... if
they can't remember the words they practiced. It is a good idea to bring some notes to help you
...(89)..., but don't memorize your speech. If you "go blank", begin by explaining the ...(90)... of your
speech, and the rest will probably follow.

86- 1) humor 2) presentation 3) mind 4) impression

87- 1) should forget 2) must forget 3) should have forgotten 4) may have forgotten
88- 1) surprising 2) frightened 3) destructive 4) emotionless

89- 1) organize 2) support 3) prevent 4) define

90- 1) issue 2) aspect 3) purpose 4) posture

mm Reading Comprehension

m Passage |:

Camping is an outdoors recreation enjoyed by people all over the world. It is an excellent way to
explore the countryside. Many people learn to camp with an organization such as the Scouts. Others
may get their first taste of camping on a camping holiday in the mountains or beside the sea. In many
countries, there are special camp sites for tourists, so you do not always have to carry a tent with you.
The camp site may provide one.
It is fun, however, to learn the basic skills of camping: how to pitch (put up) a tent, how to make a
fire for cooking, how to pack a rucksack, how to keep your camp clean and tidy, how to strike (pack up)
camp. Camping organizations can give much help and advice, and there are many useful books to read.
Before making camp, you must always make sure you have permission from the owner of the land
on which you want to camp. Next, it is important to choose the right spot- away from cliff edges or wet
soft places, and not beneath trees (branches may fall, and if it rains, the water will fall on your tent).
Choose level ground, if possible. Make sure you have fresh drinking water available, perhaps it is
necessary to use it later on.
91- According to the passage, camping is ............... .

1) a global activity 2) a way to attract tourists

3) done by people living in the countryside 4) specially for people who are with the Scouts
92- The word "one" in line 4 refers to ............... .

1) site 2) tent 3) tourist 4) country
93- Which of the following best shows the main focus of paragraph 2?
1) Fun 2) Organizations 3) Cooking 4) Skills

94- According to the passage, ............... .
1) cliff edges are wonderful to watch
2) camping near the sea is a rare event
3) it is not wise to pitch a tent beneath a tree
4) most land owners enjoy letting people camp on their land
95- Paragraph 3 is intended to give the reader information about ............... .
1) where to camp 2) what to do during an emergency
3) who to contact before going camping 4) what to take with you on a camping trip
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® Passage ll:

Eye contact is a nonverbal technique that helps the speaker "sell" his or her ideas to an audience.
Eye contact also helps hold listener interest. A successful speaker must try to have eye contact with an
audience. To have a good relationship with listeners, a speaker should make direct eye contact for at
least 75 percent of the time. Some speakers focus only on their notes. Others gaze over the heads of
their listeners. Both are likely to lose audience interest and respect. People who make eye contact
while speaking, whether from a podium or from across the table, are "considered not only as
exceptionally good at speaking by their target but also as more believable and serious."

To show the power of eye contact in daily life, we have only to consider how people behave when
they happen to look at each other on the street. At one extreme are those people who feel forced to
smile when they make eye contact. At the other extreme are those who feel not relaxed and
immediately look away. To make eye contact, it seems, is to make a certain link with someone.

96- What is the main idea of the passage?
1) How to Make Eye Contact
2) When and Where to Avoid Eye Contact
3) Eye Contact as a Means of Communication
4) Effect of Eye Contact on People's Daily Behavior
97- What does the author imply eye contact can do when he says, "... helps the speaker “sell” his or her
ideas to an audience" (line 1)?
1) It can help the speaker become famous and make money as a result.
2) It involves messages not included in the language used by the speaker.
3) It can make an audience ready to buy whatever the speaker offers for sale.
4) It can increase the possibility of people's accepting the speaker's opinions.
98- According to the passage, who is more likely to be more respected by an audience?
1) A speaker who gazes over the heads of the people to whom he is talking.
2) A speaker who looks away when feeling bad if people on the street look at him.
3) A speaker who has notes and looks at his notes most of the time while speaking.
4) A speaker making eye contact with the audience during most of his speech.
99- Which one of the following could be put in place of the word "target" in line 6 without a change in
meaning?
1) Technique 2) Audience 3) Eye contact 4) Interest and respect
100- The writer of the passage tries to prove his main point in paragraph 2 by ............... :
1) providing an example
2) reporting an event that happened in his own life
3) saying that people who dislike eye contact are few in number
4) mentioning the various advantages of eye contact in ordinary people's daily life




